Fundamentals of Computing - Part 2 of Coursework Assignment
7 [10%]

The following shows a B-tree of order 6, with a maximum of 6 fixed-length records per data-page.
Show the effect of inserting JAM, OWL, NET, OXO, LOG.

CAN / EGG ‘ GAP \ MUD

/ / v & \
ADD CAT FAD NAG
AMP CoT FEN HIP NOD
AXE DIG FIB HOT PIE
BIG DOG FOG HUT RAT
BUN EEL FUN JG SET
CAN EGG GAP MUD SUN

8[10%]

The following shows a B-tree of order 5 with a maximum of 4 fixed-length records per data-page.
Show the effect of deleting RIM, ALE, COW.

HUT \ PIN

| ANT CAT FOX KIP OAT \ | SAG TOP |\

J BED FUN JOoG \ J \
ADD | | BUG cow GAP G MEN PIE RAT| | TAP WAX
ALE | | CAT FOX HOP KIP MOP PIN RIM TOP WIN

9 [5%]

The B-tree below is aso of order 5 with a maximum of 4 fixed-length records per data page. Show the
effect of deleting RAT.

FOX
| ANT CAT | HOP PIN |
J BED FUN &
ADD | | BUG cow GAP J0G RAT
ALE | | CAT FOX HOP KIP TOP




